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a. Look at the graph #1 above, At what
shortage? e Ab
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Interaction of Supply and Demand

4

I Mowe sSure

Auenti H

ices do you have a surplus? At what prices to you have a \
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b. According to the graph above what is the equilibrium price and quantity?
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¢. What does equilibrium mean? — D =<

Cdﬁ

Quon *Lt “La . .-
a. Look at graph #2 bove. If curve A becpmes curve B, what has
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b. Give two. reasons why this might happen even though price has not changed?
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¢. How does this shift in the above graph effect the price of ice cream?
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Look at graph #3 above. If curve\A becomes curve B, what has happened?
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Give two reasons why this might happen even though price has not changed? Cg ww

. ’ How does this shift in the above graph effect the price of ice cream? v ‘3 a
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